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P1. A conducting bar can slide freely over two conducting rails as shown below. DERIVE the induced
electromotive force (emf) in the bar if (make sure you show all the derivation, not just the final answer)

() The bar slides at a velocity vo [m/s] in the 8 direction and B=3, B, [Wb/m?].
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P2. Consider the loop shown in the figure below. The loop sits inside a magnetic field B=4, Bocos Y ¢ cos 3t
[Wb/m’]. Find the induced emf in the 100p.  The oo p is) n the xy-plane ot 220
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P3. A rectangular loop 31ts in the xy-plane and has vertices at (4,1,0), (1,1,0), (1,4,0) and (4,4,0). A magnetic
field given by B=2,B,t* + a, Bicos 5t [Wb/m?] is incident on the loop. Find the induced emf in the loop.
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P4. Find the displacement current if the electric field intensity E=Eqcos 2nft [V/m]. Acsome o
relatve permithivity € -
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